Universal Mount Assembly
Part Number | MT-MR-UM-A-12-06-14-01-AS

TIP )

The Universal Mount works both
inside and outside of the truss.

Components Included
Qty. 2 - MT-MR-UM-A-12-06-14-01
Qty. 2 - MT-MR-UM-B-07-01

Qty. 2 - MT-HW-P-AS-0300-0100-0106 @
Qty. 4 - MT-HW-P-CP-0448-0012-0110 ‘

Universal Mount

Universal Mount Biscuit Half 12" x 6"
) . MT-MR-UM-B-07-01 MT-MR-UM-A-12-06-14-01
Vertical Load Capacity = 2,0001bs Weight | 3.751bs (1.70kg) Weight | 11.601bs (5.26kg)

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear | Pin 11 - Zinc Gold/Yellow
Available Finish(es) | N/A
Size | N/A- Components are multi-configurable
Weight | 32.30lbs (14.65kg)
Hole Size | 11/16” (17.46mm) | 1.03" - Fits 1.0” Pin (26.162mm Fits 25.4mm Pin)

Recommended | 5/8"-11 Thread Grade 8 Bolt, 2.5" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (\116 2 Thread, 65mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

& © 0

In Stock Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending
103

TR

EX

PL

JH

PA

HG

AC

HW

TK

MH

FH

GL




SV-10-71-90-C1-V-WN-3dW-IW
1IN2SI9 ANV INNOW TV Sd3AINN

NOIJOSIa
|AINOISIAZY _ 6102/01/9

SVSSNALPOI L-xE
-—

WA NI Y SNOISNIWIO [ ] 13¥0v e
[65°1] 90°% - GIW : TBATTNOISIDINd

[orsg]

* o v 0080QC00
ecss] [ DD DD 0080000
8e'e O
O
NId SIA3TD __mm.vam O oo
0511 Lr\ [orzl] O 5
05 S
10-£0-9-WN-IW-1IW ey
T SV-10-71-90-CL-V-WN-IW-IW g
f * @ M 3
[0z9£] ~ [orsg] H _ — 5 =
“Hooooocoott *' Em = = | g
Q00000 G ik 0000000 | £
e 003408006800/ | =
< s f o1°ge] Wwwﬁ =
oo 3| U 05’
£ & [6192] "
2R < [0£:99Z] €0l NId SIAF1D .S 22X,
= < 0501
o W ﬁom..ﬁ
= oMn e —135 1108
S ﬂ 0 O O mM STXL-8/S
Wu - | el — o ov'sz]
m md 14 0 o o 0 /! TMM L] 001
> [ ]
=
— & 5158
g E e 10-71-90-ZL-V-WN-1W-1W
— & (@3ANTONI LON I¥VYMAYVH) k :
W 00
= >< —~ - S = — -I- -I- —d




	Universal Mount Assembly Spec Sheet_ModTruss-1
	Universal Mount Assembly Spec Sheet_ModTruss-2

